

البيان

$$\textcircled{1} y = a(x+1)^2 + 9 \rightarrow a(x+1)^2 + 9 = 1 \rightarrow a = -\frac{1}{2}$$

$$\rightarrow y = -\frac{1}{2}(x+1)^2 + 9$$

$$\textcircled{2} S = \frac{b}{a} = -\frac{m}{\frac{1}{2}} \rightarrow \boxed{m < 0} \quad p > 0 \rightarrow \frac{m+9}{2} > 0$$

$$\rightarrow \boxed{m > -9}$$

$$\Delta > 0 \rightarrow m^2 - 18m + 81 > 0$$

-9	18
+	-

$$\rightarrow \boxed{-9 < m < 18}$$

$$\boxed{m < -9} \quad m > 18$$

$$\textcircled{3} S = \frac{1}{p} \quad S = -\frac{p(m+1)}{p} \quad p = -\frac{1-m}{p}$$

$$\rightarrow 9 = 2m^2 + 2 - 2m \rightarrow m = -1 \rightarrow \Delta < 0$$

$$\Delta > 0 \quad \boxed{m = \frac{1}{2}}$$

$$\textcircled{4} x^2 - x - 2 = 0 \quad S = 1 \quad p = -2 \quad x_1, x_2 = \frac{1 \pm \sqrt{1+8}}{2} = \frac{1 \pm 3}{2}$$

$$S = x_1 + x_2 = \frac{1+3}{2} + \frac{1-3}{2} = 1$$

$$P = (x_1 x_2) + \frac{1}{x_1 x_2} = \frac{1}{x_1 x_2} = \frac{1}{-2} = -\frac{1}{2}$$

$$\rightarrow x^2 - \frac{1}{2} + \frac{1}{x} = 0$$

$$\textcircled{2} \quad (\sqrt[3]{x^3} + \frac{1}{\sqrt[3]{x^3}} + 1)(\sqrt{x} - 1) = 1 \sqrt[3]{x}$$

$$= \left(\frac{\sqrt{x^3} + 1 + \sqrt{x}}{\sqrt{x^3}} \right) (\sqrt{x} - 1) = 1 \sqrt[3]{x}$$

$$\rightarrow x^3 - 1 = 1x \rightarrow x^3 - 1x - 1 = 0$$

$$f = f(-1) = 1 \rightarrow x_1 + x_2 = -\frac{-1}{1} = 1$$

$$\textcircled{9} \quad x \times \frac{x}{x} = \frac{x}{x} \rightarrow x = \pm x \quad x = x \quad 1x - 1a + x$$

$$x = -x \rightarrow 1x + 1a + x \rightarrow a = -1$$

$$1+1=19$$

$$\textcircled{10} \quad a > 0$$

$$\frac{-x+xa}{a} < 0 \quad \wedge \quad xa < -x \rightarrow a < -\frac{x}{x} \rightarrow \emptyset$$

$$\textcircled{11} \quad \frac{-1}{1a} = \frac{x}{-1} = -\frac{x}{1} \rightarrow x = 1 \quad y = x^2 + 1x - 1 = 0$$

$$\rightarrow x = 1$$

$$y = -(x-1)(x+1) \oplus 1 = x^2 - 1x + 1 \quad b = 1 \quad 1 \times 1 = 1$$

$$\textcircled{9} \quad x = x' + \frac{1}{r} \quad r(x' + \frac{1}{r})^2 - a(x' + \frac{1}{r}) + b =$$

$$1ax^2 + ax - 9 \rightarrow 1x^2 + (1-a)x' + \frac{1}{r} - \frac{a}{r} + b =$$

$$1ax^2 + ax - 9 \quad 1a = 1 \quad a = 1 \rightarrow b = -9$$

$$\left[\frac{ab}{r} \right] = -1$$

$$\textcircled{b} \quad x^r + 4x + m = x^r + rx - rm \rightarrow n = -m$$

$$(-m)^r + 4(-m) + m = 0 \rightarrow m(m - 1) = 0$$

$$x^r + 4x + 1 = 0$$

$\swarrow \quad \searrow$
 $-1 \quad -1$

$$x^r + rx - 1 = 0 \rightarrow r + 1 = 1$$

$\swarrow \quad \searrow$
 $-1 \quad 1$